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GSE/D-21 714
POLITICAL SCIENCE
Option-(1)
Indian Constitution

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. All questions carry equal
marks.
el urer oAl % SW A | wsdt Wl % o
e ¥
1. Describe the main features of Indian Constitution.
ARdE wfaum & yq@ favmdet &1 auH S |
2. Critically examine the fundamental duties as given in the

Indian Constitution.

T wfeum § iy T Hifas wdeAl w1 v s |
3. Discuss the powers and position of Indian President.

I et i vl A ferfa w1 avi it |

4. How is the Chief Minister of a State appointed in India ?
Discuss his powers and position.
IRG § T TF o GEaHsl & g 9 @ Sl € 2
qearsl i wifdEl iR feafa w1 oof wifey |
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5. Describe the composition, powers and functions of Rajya
Sabha.
TGS 1 WA, Vi iR wEl w1 auiq it |

6. Critically examine the Amendment Process of the Indian

Constitution.

TRAE wfaaE d Heea ot faty w1 Seeaes Sae
HIfTT |

7. Describe the composition and jurisdiction of the Supreme

Court of India.
ORd H Tdaeg e % 98T Td GAMHeR s 9uid

HIfTT |

8. Ciritically evaluate the ‘Power of Judicial Review’ as

given in the Indian Constitution.
TR dfaem ¥ §F R Cenfas @i wt wfs’ @

AT Hodiehd hifIT |

9. Objective types questions :
EESIELSI RS
(1) By which amendment voting age reduced to 18

from 21 in India ?

(a) o6lst
(b) 60th
(c) 62nd
(d) 59th
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(ii)

(ii1)
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qd H ford W % g WORE el ey 21 A
¥ HH w18 FH H T 7

(a) 614

(&) 60e

(|) 62d

(%) 599

Presently the No. of UT in India is :

(a 7

(b) 8

(c) 9

(d 10

9Rd # IduE 9 ¥ S 45 e fead € 2
(&) 7

(%) 8

(q) 9

(2 10

Who said, ‘Indian Constitution is a bag of
borrowings’ ?

(a) K.T. Shah

(b) H.V. Kamath

(c) Dr. BR. Ambedkar

(d) None of the above

‘i dfewe TR 3uR fau T fasid @ wge
2 I feE wEr 2

(1) &A. e

(9) TwaE. HMAYU

(§) Bl W3R et

(7)) SWw H 9 &5 &
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(iv)

)
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Who will act as an acting President in the absence
of President of India ?

(a) Vice President

(b) Speaker Lok Sabha

(c) Prime Minister

(d) Chief Justice of India

IR § qrgula s erqufafd ® wzul & wE e
T wE T ?

(31) SUrgufd

(9) ke TRt

(§) gumHs

(3) ¥9Rd & T&I A

For how long a non-parliament member in India
can remain the Prime Minister of India ?

(a) 6 months

(b) 1 year
(¢) 2 years
(d) S years

o1 995 % fohell U5 o1 958 99 i A AR
* fohad wE TR WHEEA W HeRal © 2
(1) 6 HIB

(/) 1 =d

(|) 2 =d

(2) 5 =



(vi) Members of Rajya Sabha are elected :
(a) By Lok Sabha
(b) By People
(c) BY Panchayat
(d) By State Legislatures
TTET & Gl 1 G B R
(31) dIRET R
(9) SHEar gW
(®) 99Fd gM
(3) T faumews ga
(vil) Who can remove the judges of Supreme Court in
India ?
(a) Parliament
(b) Prime Minister
(c) Public
(d) None of the above
IRd W Hated EeE & ARl s &H g
gwal T ?
(31) W]
(%) wHEEsT
(g) S

(7)) SWw H 9 &5 &
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(viii) Salary of Chief Justice of India at present is :
(a) Rs. 2,80,000
(b) Rs. 2,50,000
(c) Rs. 2,25,000
(d) Rs. 3,10,000
IR & eI A 1 9ad adqd § feRaer @ 2
(31) 2,80,000 YT
(/) 2,50,000 YT
(|) 2,25,000 TIT
(%) 3,10,000 YT
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